Table 4 - Summary Statistics for Wage Data (1975-1989)


Germany
Canada
The U.K.
Ireland
France
U.S.

















1)  Hourly Wage in Country ($) in 

      1987
10.97
9.38
7.85
7.79
6.23
9.91









2) Average Hourly Wage ($)
6.94
7.83
5.21
4.73
3.97
8.02









3)  (w EQ \O(i, $)  )
2.33
1.92
1.77
1.86
1.35
1.91









4(wuswi)
1.59


0.64
1.18
0.98
1.16
N.A.

Table 5A - Comparing investment locations for 1985 (wus = $9.54)

Price of Output (p) = $15

Nominal Interest Rate = 6%


US
Germany
Canada
The U.K.
Ireland


(Invest in 1 unit)
(Invest in 2 units)
(Invest in 2 units)
(Invest in 2 units)
(Invest in 2 units)








1)  Wage in Country ($)
9.54
6.57
8.29
5.33
5.21


1.91
1.59
0.64
1.18
0.98








3)  Static PV = (p-w)/r
91.00
140.5
111.83
161.16
163.16

4)  R(() : Value of Excess Capacity
5) Adjusted  Present Value

124.11
57.89

198.39
27.86

139.69
72.7

233.87
73.85

237.01

6) R(() as a % of the

   Adj. Present Value = (4)/(5)

29%
19.9%
31%


31%



For Tables 5A-E, Excess Capacity = 25% of Total Capacity
 Table 5B - Comparing investment locations for 1986 (wus = $9.73)

Price of Output (p) = $15

Nominal Interest Rate = 6%


US
Germany
Canada
The U.K.
Ireland


(Invest in 1 unit)
(Invest in 2 units)
(Invest in 2 units)
(Invest in 2 units)
(Invest in 2 units)








1)  Wage in Country ($)
9.73
8.66
8.66
5.85
6.30


1.91
1.59
0.64
1.18
0.98








3)  Static PV = (p-w)/r
87.83
105.67
105.67
152.50
145.00

4)  R(() : Value of Excess Capacity
5) Adjusted  Present Value

105.50
36.00

141.67
25.57

131.24
67.71

220.21
60.52

205.52

6) R(() as a % of the

   Adj. Present Value = (4)/(5)

25%
19.5%
31%


29%



 Table 5C - Comparing investment locations for 1987 (wus = $9.91)

Price of Output (p) = $15

Nominal Interest Rate = 6%


US
Germany
Canada
The U.K.
Ireland


(Invest in 1 unit)
(Invest in 2 units)
(Invest in 2 units)
(Invest in 2 units)
(Invest in 2 units)








1)  Wage in Country  ($)
9.91
10.97
9.38
7.85
7.79


1.91
1.59


0.64
1.18
0.98

3)  Static PV = (p-w)/r
84.83
67.17
93.67
119.16
120.17

4)  R(() : Value of Excess Capacity

17.74


19.41
43.47
42.57

5) Adjusted Present Value = (3) + (4)
118.69
84.91
113.08
162.63
162.74

6) R(() as a % of the

   Adj. Present Value = (4)/(5)

21%
17%
27%


26%



 Table 5D - Comparing investment locations for 1988 (wus = $10.19)

Price of Output (p) = $15

Nominal Interest Rate = 6%


US
Germany
Canada
The U.K.
Ireland


(Invest in 1 unit)
(Invest in 2 units)
(Invest in 2 units)
(Invest in 2 units)
(Invest in 2 units)








1)  Wage in Country  ($)
10.19
10.20
10.77
8.15
7.30


1.91
1.59


0.64
1.18
0.98

3)  Static PV = (p-w)/r
80.17
80.00
70.50
114.17
128.33

4)  R(() : Value of Excess Capacity

24.75


10.27
42.68
52.35

5) Adjusted Present Value = (3) + (4)
114.60
104.75
80.77
156.85
180.68

6) R(() as a % of the

   Adj. Present Value = (4)/(5)

24%
13%
27%


29%



 Table 5E - Comparing investment locations for 1989 (wus = $10.49)

Price of Output (p) = $15

Nominal Interest Rate = 6%


US
Germany
Canada
The U.K.
Ireland


(Invest in 1 unit)
(Invest in 2 units)
(Invest in 2 units)
(Invest in 2 units)
(Invest in 2 units)








1)  Wage in Country  ($)
10.49
11.27
11.69
7.88
7.91


1.91
1.59


0.64
1.18
0.98

3)  Static PV = (p-w)/r
75.17
62.17
55.17
118.67
118.17

4)  R(() : Value of Excess Capacity

18.01


8.14
49.14
47.68

5) Adjusted Present Value = (3) + (4)
110.22
80.18
63.30
167.81
165.85

6) R(() as a % of the

   Adj. Present Value = (4)/(5)

22%
13%
29%


29%



 Comparing investments for 1986 (wus = $9.73)

Price of Output (p) = $15

Nominal Interest Rate = 6%


US - Postpone Invest.
US - Invest Today
Germany
Canada
The U.K.



(Invest in 1 unit)
(Invest in 2 units)
(Invest in 2 units)
(Invest in 2 units)








1)  Wage in Country ($)
9.73
9.73
8.66
8.66
5.85


1.91
1.91


1.59
0.64
1.18

3)  Static PV = (p-w)/r


105.67
105.67
152.50

4)  R(() – Value of Excess Capacity
5) Adjusted  Present Value


105.50
36.00

141.67
25.57

131.24
67.71

220.21

6) Adjusted Net Present Value (to account for stochastic costs and sunk cost of investment = $90)
35.69
15.50
51.67
41.24
130.21








